1.

MHF4UO FINAL EXAM REVIEW #2 — EQUATIONS AND GRAPHS

The following is a list of types of equations that we have encountered in this course.

(a) Classify each equation as an identity, an equation to be sofved for the unknown, an equation of a function or an

equation of a relation.

(b) Give a geometric (graphical) representation of each equation.

(¢) For the equations that are identities, prove that the expression on the L.S. is eguivalent to that on the R.S.

(d) For the equations of functions/relations, use the equation to find a point that lies on the graph of the
function/relation. (Mark that point on the graph.)

(e) Solve the equations that are neither identities nor equations of functions/relations.
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Match each equation with the most suitable graph. Explain your

reasoning.
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